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QUESTION 1

Which two statements are true about voiding a receipt record in IBM Maximo Asset Management V7.5?
A. Balances and inventory costs are adjusted.

B. Voided receipts can be referenced on credit invoices.

C. Related General Ledger account transactions are reversed.

D. A new transaction of type RECEIPT is created with negative quantity.

E. A receipt can be voided after the corresponding line item has been invoiced.

Correct Answer: BE

QUESTION 2

Which statement is true when trying to generate a forecast on a preventive maintenance (PM) record?
A. The PM must be inactive.

B. The PM must have a due date.

C. A forecast must already exist for this PM.

D. The Forecast field must not be checked for the PM.

Correct Answer: C

QUESTION 3

What are three statuses of an Asset template?
A. Draft

B. Active

C.InUse

D. Inactive

E. Approved

F. Not Ready

Correct Answer: BCE

QUESTION 4
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Which application is used to create KPIs?
A. KPI Editor

B. KPI Viewer

C. KPI Manager

D. KPI Administration

Correct Answer: B

QUESTION 5

Which statement is true when working with condition codes?

A. Only one condition code can be used per item set.

B. Condition codes are not considered when an item is issued.

C. A condition rate of 100% must exist for at least one condition code.

D. Condition codes can only be associated with an item in the Iltem Master application.

Correct Answer: C
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